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— + Simple choice. There is only one correct answer in each question. 20%
1.Which structure would be the most stable

N o

2. What shape does the [BH,] have 7(a) trigonal planar (b) tetrahedral (c) linear (d) octahedral
3. Which of the following compounds are aromatic

S "B 0 O

4. Which is the strongest acid (a) CH,FCH,CH,COOH (b) CH,CHFCH,COOH (c) CH,CH,CHFCOOH (d)
CH,CH,CH,COOH

5. Which compound has the highest boiling point (a) CH,CH,COOH (b) CH;CH,CH,0H (¢) CH;CH,OCH, (d)
CH,COOCH;

____ 6. Which compound has the largest bond angle (a) H,0 (b) NH; (¢) CH, (d) BeH,

____ 7. Which bond is SP° — SP*  (a) CH, — CH,CH, (b) CH, —CHO (¢) CH, — CCH (d) CH, —CH(CHj),

8. Give the major mechanism by CH,CH,CH,CH,Br + OCH,—— (a) Sy1 (b) Sy2(c) E1 (d) E2

9 Which is the correct correlation for A compound

(a) a= CH,, b=Br, ¢=Br (b} b= CH,, ¢=H, d=Br (c) a= CH,, c=H, d=Br (d) b= CH,, a=Br, d=Br
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~10. What is the mzmﬁr: configuration of compound A (a) (2R, 35) (b} (2R, 3R) (c) (28, 3R) (d) (25, 35)



= » Give the [UPAC name for the following structures 6%
CH; i
(a) (b) (c) H
OH
H

= » What is the structure of the following compounds (a) 9-BBN (b) TsCl (c) Bicyclo[3,2,1]octane 6%
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10%

¥ * Propose a mechanism to account for these reactions




& - Give the compound (stereochemical formula) would you expect from each reactions  33%
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#v » Using any necessary additional reagents, show how to accomplish the following mutistep synthetic conversions  10%

o~

4+ ~ Write and explain the most stable conformation of the tert-Butylcyclohexane 5%

A+ Propose a structure that is consistent with each set of data.  10%
(a) C;Hy0; 'H-NMR : triplet & 1.27 (3H) ; quartet & 3.66 (2H) ; singlet & 4.13(2H) ; singlet & 10.95(1H)
IR : 2500 ~ 3000 cm™' (broad) , 1715 cm™ strong peak
(b) CsH,0 "H-NMR : doublet § 1.10 (6H) ;; singlet § 2.10(3H) ; septet 5 2.50(1H)
IR : 1720 cm™ strong peak




